2" GALV. STEEL HORIZONTAL TRACK
16 GAGE OR 13 GAGE BAS
THE WEIGHT OF THE DOOR

’\/- USE_EXTRA

\ 1/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

3/4" X 1—=1/2" X 13 GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE.

13 GAGE GALV. STEEL TRACK SPLICE
OR FLAG BRACKET. FASTEN TO WOOD
JAMBS WITH 5/18™ X 1-1/2" LAG SCREWS,

f~—— 2" GALV. STEEL VERTICAL TRACK
BOLTED TO TRACK BRACKETS WITH
1/4"-20 X 5/8" TRACK BOLTS.
18CA. (8 X 7). 16GA. (9 X 8),

OPENING HEIGHT

(NOT OVER 63" (8 X 8)
DOOR HEIGHT)
K
r (2 BRACKETS EACH SIDE)
GOMMERCIAL (9 X 7)
42" (9 X 7)
377 (9 X 8) (3 BRACKETS EACH SIDE)
COMMERCIAL (9 X 8&)

&
f

20 GAGE END _STILES — FASTENED WITH
TOG—[—LOCS TO PANEL. USE END CAP
OVER END STILES ON © X 8.
SEE DETAIL C.

STOP MOULDING NAILED EVERY 12"
6—D TYPE NAIL MIN.

NN

~NI—
T

g

|
=
1

4
—

SECTION B—B

1/4" X 1/2" LONG

I..

—
—

$Ele

SN
DETAIL D

1/2" POLYSTYRENE

INSULATION STANDARD

FOR MODEL 735

T

" OR 24"
HIGH PANEL
GALV. AND

PREFAINTED STEEL
25 GAGE ALL MODELS
EXCEPT 24 GAGE
MODEL 750, 755

LAG SCREW — 5/16" X 1—1/2" J—

20 GAGE GALV. STEEL CENTER STILE

CARRIAGE BOLT & NUT

1/4" X 3
ETAL SCR

b

ZZ

%I_HL_JQQ

o/

16 GAGE GALV. STEEL TOP BRACKET
WITH 14 GAGE ROLLER HOLDER

(SEE DETAIL D)

SPRINGS).

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION

2" ROLLER WITH 7/16" DIA. STEM.,
TIRE: NYLON OR 7 BALL STEEL, (9 X 7).

2" ROLLER WITH 7/18" DIA. STEM,
TIRE: 7 BALL STEEL. (9 X B).

GALV. STEEL END HINGE COMMERCIAL
ATTACHED WITH 5 FASTENERS.

14 GAGE.

(SEE DETAIL C).

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS.

(2 PER VERTICAL STILE)

THIS STRUT ON
LEAF.
OTHER

750, 7565, 426.

SEE_DETAIL G)
TRUTS IN MIDDLE
OF TOP & BOTTOM SECTIONS.

HINGE

QPTIONAL SSH
GLASS LIGHTS

/ T 11 T T
OPTIONAL LOCK Ij : ' ' !
3 STRUTS/!

3" 20GA

~

ALTERNATE CONSTRUCTION

* t
B

|—>A USING (2) STRUTS
] H
“/,// ;« V74 ” ;// ,/I % ///// /—-OP'HONAL
i EMNOSSES
N A
B
Lt DU [ ]
7' OR 8"
{ ] [ 1
| | | L 1} | ]

— A

|
|

Z (SINGLE CAR)
4" X 16" AIR VENTS

CENTER STILES

AND_HINGES
(SEE DETAIL A) (1 COLUMN)
2), REQD. _ (60 Q.
H_MIN. TOTAL OPEN
AREA).  OPTIONAL.
— — 1.25"
3"
USE ONE EXTRA SELF
DRILLING SCREW THROUGH

1-3/8" POLYSTYRENE INSULATION
OPTIONAL FOR MOD. 724, 730

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 2 FASTENERS

BOTTOM SCREW CAN BE ABOVE OR
BELOW ROLLER.

|—— 275" ——-—‘
DETAIL A
3" 20GA WIDE STRUT

20 GAGE
ENDCAP_USED ON
9 X 8 DOOR ONLY

20 GAGE END STILES

TOP LEAF QF HINGE,
END STILE & RAIL.

Q

]

CF. I\

o A\

o \ /
RAILSl

L.H.

TOG—L—LOC OR POF RIVETED TO PANEL. NOTE: GLAZING DOES NOT SATISFY IPACT DETAIL C 9 >< 7
10GA. COMMERCIAL GALV. STEEL TRACK BRACKETS., SEE ABOVE 18 _GAGE GALV. STEEL CENTER HINGE RESIDENTAL SECTION A—A DEBRIS REQUIREMENTS IN FBC
FOR SPACING. FASTEN TO WQOD JAMBS WITH 5/16" X 1—1/2"  FASTENED WITH (4) 1/4" X 3/4" 9 >< 8
LAG SCREWS. PREPARATION OF JAMBS BY QTHERS. HEX HEAD SHEET METAL SCREWS. FL 15080
B.S.F. ‘TAELE 85800 SCOTT
DOOR SIZE DESIGN PRESSURE TEST PRESSURE mmson HAMILTON DR.
WIDTH ___ HEIGHT| POSMMVE__ NEGATIVE |POSITIVE _ NEGATIVE | NOTE: ﬁ\%,,ﬂ%‘?%ﬁéﬁl"’ﬂ\ﬁ E%SI}ESN%*?SNSIT‘*SOV(V)"‘J? TO BE LITTLE ROCK, AR
9'—0"7°—0"|+22.9|—26.4 | +34.4/-39.6 1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS. DOOR 352510)9 562—1872
' A
9’—-0"|8'-0"[+19.2|~-22.2 | +28.8|—33.3 MODELS:
724, 426, 730, 735, 750, 755
PART NAME:
%‘1’2? EAIE%%?E SFE C |REV LOGO & ADDRESS|1/28/13 —STERANGE mNDBLOAD RESIDENTIAL PAN DOOR
Carrellton, TX 75007 B 12/15/11| RLB
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES *-FE 5830872303 A Sl A | 2866 |3 //1 0 //os RLB FRAC.% 1/64*
LISTED IN THE TABLE ABGVE VIA TESTING TO ANSI/DASMA 108—05. t5755 480 5500 A DEC. £.015 NEXT LEVEL DATE: DWG. NO.
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS ey Toneere sea! g‘}; S N> 2848 11/1/07) R - HA187 | 99-B—079
. pravided only for verification of ] SCALE PLOT SCALE DRN. BY
windload censtruction details. ('Z\‘“{ (\3 REV.|E.C.N.| DATE: APPROV. NONE BH SHT 1 OF 3




13 GAGE STEEL TRACK
SPLICE OR FLAG BRACKET,

FASTEN TO WOOD
WITH 5/16" X
LAG SCREWS

1—1/2"

JAMB

%@/

3/47 X 1=1/2" X 13 GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE.

1/4" X 1/2° LONG
CARRIAGE ‘BOLT & NUT
USE_EXTRA

1/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

USE (2 X 3/4" —
SRt SCREWS. 3
=1
w]
R T O
2" GALV. STEEL
VesToN. Trock RS0, o T elorT :
BOLTED TO » 4
TRACK BRACKETS
WITH 1/4"-20 X DETAIL D
5/8" TRACK BOLTS.
63" (16 X 7)
74" (16 X 8)
OPENING
HEIGHT I
NOT OVER ’]
DOOR HEIGHT)
42" (16 X 7)
[l 50" (16 X 8)
#3 E—f_
n 1/2" POLYSTYRENE
217 (16 X 79 INSULATION
4 BRACKETS EACH SIDE| 24" (16 X 8) STANDARD FOR
MODEL 735.
#3

20 GAGE END STILES — FASTENED WITH

TOG—-L—LOCS TO PANEL.
OVER END STILES. { SEE DETALL C)

STOP MOULDING NAILED EVERY 9"

USE END CAP

6—D TYPE NAIL MIN. —N

AR fl L

k

|

/
ﬁ

I

10CA. COMMERCIAL GALV. STEEL TRACK BRACKETS.

FOR SPACING.

SECTION B-B

FASTEN TO WOOD JAMBS WITH 5/16" X 1-—1/2"

20 GAGE GALV. STEEL CENTER STILE

LAG SCREW 5/16" X 1-1/2"

21" OR 24" HIGH
PANEL GALV. AND
PREPAINTED STEEL
25 GAGE ALL
MODELS EXCEPT
24 GAGE MODEL
750, 755

[

\~

TOG—L—LOC OR POP RIVETED TO PANEL.

18 GAGE GALV. STEEL CENTER HINGE RESIDENTIAL

SEE ABCVE

LAG SCREWS. PREPARATION OF JAMBS BY OTHERS.

FASTENED WITH (4) 1/4” X 3/4"
HEX HEAD SHEET METAL SCREWS.

16 GAGE GALV. STEEL

< TOP BRACKET WITH 14
») GAGE ROLLER HOLDER

SEE DETAIL D.

STRUT JUST BELOW
TOP BRACKET.

2" ROLLER WITH
7/16" DIA STEM.
'(I'IRE

6 X 7) L BALL SHORT STEM
(16 X 8) 10 BHALL LONG STEM

OPTIONAL LOCK

5 STRUTS

3" 20GA WIDE
3" 1R8CA WIDE

(SEE DETAIL A)

e X 8

OPTIONAL SSB

ALTERNATE CONSTRUCTION
USING (2) ST

1
L A GLASS LIGHTS
: S
77 V71V 7T 70 7T n 7T 0l
J_ J—
+|1|1|,||| N
i —&_
| N o JE|

III-IIIIIIIIIIIIIIIIIIiIIIIIIII.IIIIF']II_IIT

M VA N V2 S

GALV. STEEL (14 GAGE) COMMERCIAL

END HINGE ATTACHED
WITH & FASTENERS.

GALVANIZED STEEL
STRUT ATTACHED
WITH 1/4 X 3/4”
LONG HEX HEAD
SELF DRILLING SCREW

750, 785, 426.

13 GAGE GALV. STEEL
BOTTOM BRACKET
ATTACHED WITH 2
FASTENERS. BOTTOM

SCREW CAN BE ABOVE
SECTION A—A 0R BELOW ROLLER.

(2 PER VERTICAL STILE)

STRUT ON UPPER PART OF
SECTION OVER HINGE
LEAF. (SEE DETAIL B).

1—3/8" POLYSTYRENE
INSULATION OPTIONAL
FOR MOD. 724, 730,

STRUT ON BOTTOM BRACKET

;
/

AREA).

4" X 18" AR VENTS
ﬂ:}-& REQ'D. %_120 SQ.
INCH MIN. TOTAL OPEN
OFTIONAL.

USE ONE EXTRA SELF
DRILLING SCREW THROUGH
TOP LEAF OF HINGE,

16’ (Dou BLE CAR)

e

CENTER STILES (5 COLUMNS)
CENTER HINGES (3 COLUMNS)

20 GAGE END STILES

1X7g

\ OPTIONAL

LONG PANEL
EMBOSSES

DETAIL C

END STILE 4 RAIL.
TYPICAL FOR EACH p
END HINGE i I o
p
/Z>
f— 2.75" —~|
o ! DETAIL A
3 20CA WIDE STRUT
O/ N/ 5" 78Ga WiDE STRUT 21 X8
o \
o \/
RAILS-Y
LH.
NOTE: DOOR MUST BE INSTALLED
WITH, EITHER AN ELECTRIC OPERATOR
DETAIL B A LOCK (MUST ENG

TRACKS UN DOORS WITH EXTENSION

SPRINGS).

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

FL 1

5080

167 X 7

16" X 8

5800 SCQTT
P.S.F. TABLE wINI' HAMILTON DR.
DOOR SIZE DESIGN PRESSURE | TEST PRESSURE "\w son I;I;'gl(_)% ROCK, AR
WIDTH __ HEIGHT| POSITIVE __ NEGATIVE | POSITVE __NEGATIVE
NOTE: ALL NON-DESCRIPTIVE FASTENERS SHOWN TO BE —
168'=0"|7'-0"|+18.71-20.8 | +28.1|1-31.2 1/4°-20 X 5/8" HEX BOLTS & NUTS OR ' A mn (501) 562-1872
) ‘ ’ ) 1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS. TODELS:
16'=0" |8'-0"|+18.7{-20.8 | +28.1|-31.2 724, 426, 730, 735, 750, 755
PART NAME:
%?2? IEAI??%%?E 55 C |[REV LOGO & ADDRESS|1/28/13 S CERANCE VW\/INDLOAD RESIDENTIAL PAN DOOR
oo X or 0 |——lz/15/11] RS -
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TQ WITHSTAND THE PRESSURES - =+ "
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-08. b2 Y00 ' < A 2866 |3/10/08] RLB | ;,é?g NEXT LEVEL DATE: DWG. NO.
" e | & Zea ko 2848 |11/1/07| RLB |[ANG. £ T 11/1/07 | 99—B—079
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. p;gvf(f:f’fmy ';g'r"‘;:rn?cifl‘;n of ‘?’\w SCALE PLOT SCALE DRN. BY
windload construction details. (Q 2“!;\‘5 REV.|E.C.N. DATE: APPROV. NONE BH SHT 2 OF 3




" 6_STRUTS ALTERNATE CONSTRUCTION
13 GAGE STEEL TRACK 7 . " (3) 1/4" CARRIAGE BOLTS 13 GAG I NTT
SPLICE OR FLAG BRACKET, / 3/4" X 1-1/2 TR CAGY ROLLER MOLOMMCKET 37 18GA WIDE USING (2) STRUTS
FASTEN TO WOOD JAMB X 13 GAGE MIN. NOTE THAT ROLLER HOLDER (SEE DETAIL A) OPTIONAL SSB
WITH 5/16" X 1-1/2" GALV., STEEL CURL IS TURNED DOWN. GLASS LIGHTS
LAG SCREWS / HORIZONTAL ANGLE. SEE DETAL D. B i [ : :
%, PRIR w ali7aallzanaazallaaia ag
1/4" X 3/4 , "
\]:_ SHEET METAL EXTRA L : 7' OR &'
4 SCREWS 1/4° X 3/4" @ A STRUT JUST BELOW
HEX HEAD SELF TOP BRACKET. =
2" GALV. STEEL HORIZONTAL ~ DRIHNG SCREW 8 ; : : : 5
2" GALV. STEEL TRACK 16 GAGE OR 13 GAGE DETAIL D 2" HURRICANE ROLLER WITH 0 e el e B N
VERTICAL TRACK d BASED ON THE WEIGHT OF _— 7/16" DIA. LONG STEM. i
16GA / ] THE DOCR. N TIRE: STEEL 10 BALL - ]
BOLTED TO ] 1.25" —]| I—— =EINE — [— — [— — [— [S] ]
TRACK BRACKETS / :l OPTIONAL | U [ ] u [ ] u [ 1 u 1 il L I TEIT T ]
WITH 1/4"-20 X _/ NAL LOCK B A B A | : E : H A | oA !
5/8" TR‘ACK BOLTS: 63" (1B X 7 \ — A \
74" %18 X 83 3" gg@[#;%r\?%vlé%pimpmr OF 18'(DOUBLE CAR) |
e GE
SEE DETAIL 'E IRA
OPENING | b LEAF. (SEE DETAL B). OPTIONAL
HEIGHT - LONG PANEL
ST HoEVIEET) - — 2.75" —~] ; GALV. STEEL (14 GAGE) COMMERCIAL EMBOSSES
END HINGE ATTACHED
e M ST SaE s G SR
(s x 3" 18GA WIDE STRUT SEE DETAL & [\ X 167 AR VENTS
STRUT ON UPPE RS
] SLoTioN OVER HiNGE T O iNRgEI-leNOPTT(I)OﬁkLOPEN 20 GAGE END STILES
” LEAF, (SEE D
rﬂ———r‘ 1/2" POLYSTYRENE { ETAL B) 16 GAGE
., INSULATION END CAP
21" 98 X 73 STANDARD FOR SIRUL ON LQWER FART OF USE_TWO_EXTRA SELF DRILLING
24" (18 X 8 MODEL 735, TERT EﬁREWS THROUGH HINGE LEAF,
D STILE & RAIL AS SHOWN.
| AL INIZED STt - TYPICAL EACH END HINGE.
WITH 1/4” X 3/4" T
5" LONG HEX HEAD
DETAIL E 1 szELgESRU_LéN? iCREW
VEIAIL & ERTICAL STILE
@ ) s DETAIL C
4 BRACKETS EACH SIDE . . 1—3/8" POLYSTYRENE —_—
HiCH PAVEL FOR V0D, 724, 740; I=
20 GAGE END STILES — FASTENED WITH o 428 190,
TOG—L—LOCS TO PANEL. USE END CAP e NS A 750, 755, 426. o , NOTE: DOOR MUST BE INSTALLED
OVER END STILES. {( SEE DETALL C) 25 GAGE ALL STRUT IN MIDDLE OF c / / RAILS WITH EITHER AN ELECTRIC OPERATOR
MODELS EXCEPT BOTTOM SECTIO 7 UST ENGAGE BOTH
STOF MOULDING NAILED EVERY 8" TION. Y \ TRACKS ON OORS WITH EXTENSION
6-D TYPE NAL MIN. ———___ | 24 GAGE MODEL 5 SPRINGS).
750, 755. 13 GAGE GALV. STEEL /
- b BOTTOM BRACKET 3 ’
L — ATTACHED WITH 3 DETAIL B /l 8 >< 7
1 £ A FASTENERS, BOTTOM ~14
= ENS = SCREW CAN BE ABOVE A
OR BELOW ROLLER.
SECTION B—B SECTION A—A NQTE: GLAZING DQES NQT SATISFY IMPACT
20 GAGE GALV. STEEL CENTER STILE DEBRIS REQUIREMENTS IN FBC ) ?
B S S D0 TR SR OB 105100 0% P0P AVETeD 10 Pl
: = 18 GAGE GALV. STEEL CENTER HINGE RESIDENTIAL FL 15080
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS.
SEE DETAIL "E". FASTENED WITH (4) 1/4" X 3/4"
: HEX HEAD SHEET METAL SCREWS.
P.S.F, TABLE 5800 SCOTT
DOOR SIZE DESIGN PRESSURE TEST PRESSURE - mmson E{.?I\I.AL“ETOR%C?(R AR
WIDTH HEIGHT | POSITVE  NEGATIVE |POSITVE  NEGATIVE 79209 '
At 7t NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE _
18'~0" [7'-0"[+18.7[~20.8 | +28.1[-31.2| NOTE: AL NON-DESGRIPTNE FASTENERS SHOWN TO & \ ., DOOR | o) se2-182
— 1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.
18°-0" |8'-0"|+18.7|-20.8 | +28.1|—-31.2 MODELS:
724, 426, 730, 735, 750, 755
PART NAME:
John E Soates PE C |REV LOGO & ADDRESS|1/28/13 WINDLOAD RESIDENTIAL PAN DOOR
3121 FARGATE DR, TOLERANCE
Gl 1 oy 5 [——he/is/ii] Rl e
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TQ WITHSTAND THE PRESSURES X— - FRAC.% 1/64"
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108—05. 517 7 : A 2866 |3/10/08| RLB |5 .615 NEXT LEVEL DATE: DWG. NO.
(972) 492-9500 - it
— e | 2848 |11/1/07| RLB |ANG. 11/1/07 99—-B—079
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESFONSIBILITY OF OTHERS. p;g;;;m‘;,y ';g;"ig’;;lcjz‘;n of SCALE | PLOT SCALE | DRN. BY
windload construction detdils. (0{2«‘)&(/{3 REV.|E.C.N. | DATE: APPROV. NONE BH SHT 3 OF 3




